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134 ïqvBe 73 91 88 80 58 86 84 95 655 81.88 gygZvR 1g

131 Rv‡ei †kL 79 65 90 82 88 74 82 90 650 81.25 gygZvR 2q

139 ‡Rvev‡qi 64 60 98 84 87 56 64 76 589 73.63 Rv:wR: 3q

137 bvRgyj Lvb 45 44 100 84 100 66 69 70 578 72.25 Rv:wR: 4

132 mvBg 63 54 85 72 70 77 60 78 559 69.88 Rv:wR: 5

136 Rybv‡q` 70 40 100 65 65 55 82 80 557 69.63 Rv:wR: 6

138 jvwee mvBdzjøvn 73 73 92 61 40 75 58 83 555 69.38 Rv:wR: 7

140 gvwR ỳj Bmjvg 69 46 82 57 63 59 60 71 507 63.38 Rvwq¨` 8

135 Avj gvgyb 64 40 76 92 40 59 55 79 505 63.13 Rvwq¨` 9

144 bvCg Bmjvg 75 56 48 45 45 57 72 89 487 60.88 Rvwq¨` 10

141 wmdvZ Bmjvg 69 47 90 71 40 45 45 72 479 59.88 Rvwq¨` 11

142 ‡gvnv¤§v`yjøvn 80 40 80 68 43 57 44 54 466 58.25 Rvwq¨` 12

133 mynvBj 74 52 95 42 27 58 57 86 491 61.38 gvKeyj 13

143 wmqvg (Kvwj) 70 42 66 65 13 64 46 67 433 54.13 gvKeyj 14

149 †Mvjvg iveŸx 40 25 82 40 40 55 28 47 357 44.63 ivwme 15

146 nvwmeyi ingvb 60 31 68 40 28 48 18 47 340 42.5 ivwme 16

148 Zvngx` 35 12 74 48 53 31 35 48 336 42 ivwme 17

147 Ave`yiingvb 36 35 78 40 10 30 48 35 312 39 ivwme 18

145 wmqvg - PwÐ 66 25 46 51 12 32 32 38 302 37.75 ivwme 19

  wet ª̀t- †h ‡Kvb GK welq AK…ZKvh© n‡j gvKeyj Ges GKvwaK welq AK…ZKvh© n‡j ivwme wn‡m‡e we‡ewPZ n‡e|

 cix¶v_©x 19Rb t gygZvR 02Rb, RvtwRt 05Rb, Rvwq¨` 05Rb, gvKeyj 02Rb, ivwme 05Rb|

gy:Avjv= 90-100 (cÖ‡Z¨K welq)               

gygZvR=80-89                           

Rvwq¨` wRÏvb=65-79                 

Rvwq¨`=50-64                           

gvKeyj=40-49                             

ivwme= 0-39


